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19.04.2022 Max. Marks: 20

GENERAL INSTRUCTIONS:

(i) This question paper consists of 10 questions. All questions are compulsory.
(i) Questions 1 - 3 are MCQ carrying 1 mark each.

(iii) Questions 4 - 7 carry 2 marks each.

(iv) Questions 8 - 10 carry 3 marks each.

SECTION-A

4

The value of k for which the matrix [2__5k 1

] is not invertible is

If | 4] = ﬁ ‘g| then find |24].

0 a 7
3. If [—5 0 1] is a skew symmetric matrix, then find the value of aand b
b -1 0
SECTION -B
(i-2j)*
2
5. If Cjjis the cofactor of aijth element of the matrix, then find the value of

4. Construct a 2 x 2 matrix whose a;th element is given as: ajj =

2 0 1
a1 Cq1+ a2 Cqo + agz Cqa for the matrix [O -2 1]
1 1 3

2 },find’k’forAZ-kA+7I -0

3
-1 2
2
x

IfA={

, IfA= B } and |A*| = 625, find the value(s) of x
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SECTION -C

1 3 211
Find x, if [1 1][2 5 1] 21 =0.
15 3 21lx
1 1 1
Consider a matrix A=|-3 4 2].
6 -1 4

a) Show that A is a non-invertible matrix.

b) Find adjoint of A matrix.

c) Hence show that the following system of equations is inconsistent.
x+ty+z=2, -3y+4x+2z=11 and 6x-y+4z=10 .

A student is trying to solve the system of linear equations

x+y+3z=5,x—y+z=3and x + 2y +2z = 4, using row reduction method.
A part of his working is shown below

1 1 315 1 1 315
(1 -1 1 3>=<0 -2 =2 —2)
1 2 214 0 3 111
1 1 315 1 1 3|5
= (0 -2 -2 —2>=<O 1 1 1)
0 3 111 0 0 -21-2

Assuming that his working is correct, use it to complete the row reduction process
and hence solve the system of above linear equations.

End of the Question Paper
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(i) This question paper consists of 10 questions. All questions are compulsory.
(ii) Questions 1 - 3 are MCQ carrying 1 mark each.

(iii) Questions 4 - 7 carry 2 marks each.

(iv) Questions 8 - 10 carry 3 marks each.

SECTION - A

The positive value of x for which matrix A = [: } is a singular matrix
X
1S

If |4 = |_21 21| then find |24|.

0 5 =3

If [—5 a b ] is a skew symmetric matrix, then find the value
3 -1 0

ofaand b

SECTION - B

(i+))?
2

Construct a 2 x 2 matrix whose a;h element is given as: ajj =

If Cjjis the cofactor of aijth element of the matrix, then find the value of

2 0 -1
a11 Ci1 + a12 Cqp + a13 Cq3 for the matrix { 0 2 1 ]

-1 1 3
‘ﬂ find ‘K’ where A2= A + kI

IfA=[3
4

A, B, C, D and E are matrices of order2 xn,3x3,2xp,nx3,and px 3
respectively. Justify if the matrix (AD — CD) is defined or not.
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SECTION -C

1 0 2)rx
Findx,if[1 1 x] [0 2 1] [—1] = 0. 3

2 1 ofto 3)
A student is trying to solve the system of linear equations 3)

X+y+3z=5,x—y+z=3and x + 2y +2z = 4, using row reduction method.
A part of his working is shown below

1 1 3|5 1 1 315
1 -1 113 =<0 -2 =21-2
1 2 214 0 3 111
1 1 315
0 -2 -2 —2)

0 3 111

1 1 315
(O 1 1 1)
-2

0O 0 -2
Assuming that his working is correct, use it to complete the row reduction
process and hence solve the system of above linear equations.

Show that the following system of equations is inconsistent. )
4x-5y-2z=2, -4y+5x+2z=-2 and 2x+2y+8z=-1

End of the Question Paper
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GENERAL INSTRUCTIONS:

(i) This question paper consists of 10 questions. All questions are compulsory.
(ii) Questions 1 - 3 are MCQ carrying 1 mark each.

(iii) Questions 4 - 7 carry 2 marks each.

(iv) Questions 8 - 10 carry 3 marks each.

SECTION-A

. . 5 =24, . .
"The value of x for which matrix A = L } is a singular matrix is ,

X
If |4 = ﬁ _11|thenfind 134].

0 5 -2
3. If [—5 a 1 ] is a skew symmetric matrix, then find the value of a and b.
b -1 O
SECTION -B

(2i—j)?
2

4. Construct a 2 x 2 matrix whose a;th element is given as: ajj =

5 If Cij is the cofactor of aijth element of the matrix, then find the value of
1 0 2

anCnt+ apCp+anCuiforthematrix [0 2 1

2 0 3

-2

IfA= B 2}, find ‘K’ for A2= KA - 21

7. A,B,C,DandE are matrices of order2xn,3x3,2xp,nx3,andpx3
respectively. If the matrix (EB + DB) is defined, then justify that n =p.
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SECTION-C

1 0 2]x
Findx,if[x -5 —-1]|0 2 1 [4] = 0.
2 0 3/l
A student is trying to solve the system of linear equations

x+y+3z=5,x—y+z=3 and x + 2y +2z = 4, using row reduction method.
A part of his working is shown below

1 1 3|5 1 1 3|5
(1 -1 1 3>=<0 -2 =2 —2)
1 2 214 0 3 111

1 1 315
= (0 -2 -2 —2)
0 3 111

1 1 3|5
=<0 1 1 1)
-2

0 0 -2
Assuming that his working is correct, use it to complete the row reduction process
and hence solve the system of above linear equations.

1 2 1
2 3 1].
3 5 2

a) Show that A is a non-invertible matrix.

b) Find adjoint of A matrix.

c) Hence show that the following system of equations is inconsistent.

x+2y+z=3, 3y+2x+z=3 and 3x+5y+2z=1

Consider a matrix A =

End of the Question Paper

g 2 4 2



